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Zerus of polynomial X° -9 are:

m (B.3 (b (3.3
€ (3,-3) @ (3,0
(i) e T o o Tt o6 e At
16 @ 13
= B = 9
The total number of diagonals of the cuboid is:
(a) 16 (b) 13
(c) & (d) 9

(i) sin” 70°+cos” 70° &1 9 E0:
@ - @ 0
= 2 4= 1
Value of sin® 70°+cos” 70° will be:

(@) -l (v) ©

(c) 2 (d 1
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Thﬂpmdm of
2 Toots of Quadratic i
X _x_]2:9 will be: Squation
: -

(a)
© 12 E;; o
-1 (Evs. ) ﬂ-ﬁwaﬁﬁw

(1) Wﬂﬂ%ﬁaﬁa@%ﬁwﬁwaﬁrmm
B s mr ey “
Each side of a regular decagon forms an angle of
____degree at the center of the circle.
Gi) Frelradwme | vk
Financial year starts from
(iii) 3T x=2y=4 2t wiftwwor Ix-4y=p Fpa
qH - &
If X=2;Y=4 then value ofpis _ inthe
equation /X —4y=p
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S inyeRmy
Value of cos(90 - g) will be

™ v st .
Degree measure of a circle i3 2

[ tM~mmmmﬁafaq;
(Part - C) Write True or False:
(i) ﬁmﬂnqtrm%:l:[m TR HT TV I vy
TR % STEE e B I

Fhe multiplication of the mean terms of a

|1xSes

Proportion is equal to the multiplication of its
Extreme terms,

(1) 9 % UF B ©UL H 51 197 Qs ae s =4
Angles in the same segment of a circle are equal )
to each other

(11)
FHEd £l

TS1e Trfer 9 &y it o ot sl # 38 wee IRl

Ihe amount on which the interest 1s calculated 18

called Principal

(iv) dfe fadtf

g &
feerer =

[f the co

located at vy

A l:l

|
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dXl

brvrt =v=1 7} 3 71
ifras sRom &RT 4T 1 80° BIAT Bl

terior angles of quadniateral 18

— ]

= PT,

]I (L] e

ER SERACH ON GOOGLE -SCIENCE KA MAHAKUMBH

2024.03.18 18:29



https://t.me/sciencekamahakumbh

FOR ALL PAPER SERAGH ON GOOGLE E KA MAHAKUMBH

2 A iy
SNG4 - cog26° Skl — Cot (80 —cM)®
Sinbl = Gin gu®

Find the value of
Sin 64° 0% 26 M Sl 4

-3 ﬁi‘lﬂ.g 3, 2) (-7, ﬁiﬁ:frﬂﬂ-?.ﬁ"lﬁfﬁﬁ“.! g l'
5 s Mﬂ
Find the distance between the points (-3, 2) and (-7, 5). '

4 Wi A 10,13, 16,19 a 10 At ag Jira e o ff'tlall"

Find the 10" term of the Arithmetic Progression
10, 13, 16, 19

oo, AqTYS X* 43X +2 & HEE IR ) Ly 12
Factorize the polynomial X" +3x +2
F6 F=falad snEe & ages ym Hifo; 121
39. 78. 33, 86, 39, 33, 32, 33
Find the mode of the following data
319. 78. 33, 86, 39, 33, 32, 33
. . , : 13
=7 i getsr 2x° + 5% + 5 = 0 & wet i i g i

it
Find the nature of roots of quadratic equation -
) - -
2x° +5x+5=0
b afe 55 St i U TErEs i 2:3:6 % ST 13
T 9T T 9 ) wfars et wrl

If a 55 em long line segment is divided into three pans
N el 'i’:'”"- of each pari

In the rato 2:3:6. then whal will DE |

C MM oxeos
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@ e 5y
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The c:n. wmierence OF the base of 5 right urnln quiuh

15 22 em and its height s 10 cmy Find the curved s tice
of the cvlmder

fire fifaw s am+ 9 h'm it b wet o o

qu o ’1 p Y ¥ i vy b "I & '|I
Prove that 4m+ 9 s an odd inteper “I-KL"._. ll'lk -
|1'|[1.? er LTl Ly

U TiER | S WHIE a 3wat e o e o o o, d
Foanfid &gk
HHIR :||.‘i::.;|~‘|
| gyt & () | S T3 1 als |
WEHTE e 39T (0 AT v ) s st syrere st
QOuantity of Omion (In kg) used by o family for § weeks
fre given in following iable
Week |'I .'.i!lll‘\
:1_‘||.1||r.|:~. af Omion (In kg [ | } . [ i | 5
!| draw a graph between v
e
(R
o T W (7. 10) ¥ e ¢ et 21 AR RLE TRR

7 far & x fAama Jma it foraar y IR 15 ™)

(me Line whose slope 18

\ -coordinate 15 15

week and Ouantity of Omion used

passes through the point

10). Find the v-coordinate of that point whose
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T -12 Wﬁmmaﬁﬁ{g uﬁmmssumﬂmﬂ
JHH =T 10 9t 2 '

' | CNY) .

Find the height of the cone. If its volume is 550cm” and
its diameter is 10 cm.

HEaT

OR
.-ﬂ'q"T,r,—qT_{m;“, niferat #t fieET o TS ST AT ST
TN =% et & e 3 i

A big sphere is made by melting down 64 small spheres
cach of radius 2 cm. Find the radius of the big sphere

W¥H-13  SflATY PQ 74T RS 9 F ATeT U 12 3 T T U gL %l 1
Fledl 1 Ife TQ = 3 3t TP = '“H—ls—mzh‘ﬁ

- S Pl = ol
al TR #H1T RS &t =412 I Fifsm

Chord PQ and RS infersect each other at point T which

lies outside the circle. IfTQ =3 cm. TP = 8 cm and

I'S =4 cm then find the length of TR and RS.

YT
OR

r [ n = e r
ez ST & w gt fngsr # wf ol e 2 VI
& 9711 & 1T & SUFTEIT 2l
Prove that “In a nght angle Tnangle the square of the

hypotenuse IS equal to the sum of the squares of the
remaining two sides”

Sl T
03C08
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e
OR

et amooft w51 wnfioman yra i

i 0-10 | 10-20 | 20-30 | 30-40 40-50 | 50-60 | 60-70
SErar: (5 | 15 | 20 | 23 U B

Find the median of the following table:
Class: 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 ﬁa:m\

Frequency: | 5 15 20 23 17 1 9 l

WA-15 5 A T AT g g ABC o T e wr e IS}
: 3
UF 3 GHETE AV POR it 7= Hifere s@i PQ:Eﬁ.B

Construct an equilateral AABC with each side S cm.

Then construct another equilateral APOR where
PQ= ;AB
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PQR & wrahivr e & it 2Q=90° BiaR PQ =6
49 TT QR = 8 it &, g Frger 36 e W T g A
Fran 3 oy o & w2t

PQR 15 a nght triangle in which ZQ=90°. IfPQ=6
cm and QR = 8 cm. find the radius of the circumeircle in

E KA MAHAKUMBH

the triangle. Write the step of construction also

WEA-16 a3 3% 200 5o wfmme St e § 5 99 & o0 Svadf s i)
AT Gt afe sy £1 2T 5% 51t gl ar 5 99 9= 34
fet sofr I af? 4
Ravi opened a recurring deposit account 1 bank ol
Rs. 200 per month for 5 years. If the rate of interest 15
5% per annum, then how much amount will he get aftes
5 years?

A=

OR
ot ag 2014-15 § Ueh seh HHAMN &1 QTHH AT (G4
fartrar w1 SeS0) 40,000 5. B 98 42,000 5. ¥ |-
wiferss il of s =tar & 97947 6,000 %, i spedantde difoam
Ty :g—j,_“ o '.:,_.-i -r.". 'f':-i CICER i*l JUHE | ?.--.1'-.-:._.” ":';T I 1” A

ITIST a7

2 o) HTShad JATET 1 .00 () &, 7

ST L ASEn

| #h a1 17 |HIHT HTOH & %
1. | 2.50.000 &, O hlS ST e

} S0.0300 5, |/ 500,000 % Fah

I 00 001 %, 8 1000000 % 75 e

ToT8qT 39T - ©F HTHH H 3%
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cos , Sin(90°—0)

sec(90°—0)+1 m= 2cot (90" -8) ——~

Prove that -
o0 | sin(90°-0) o e
sec(90° lz_i“.'f'r cosech —1 2cot (90" -8)
seran
OR

FMFAA R FRFRBUFF R FIRICHA A
qr Tt #1 war ¥ e femr it & 60° & o am A R

Uz 1 St g Fifs

A tree breaks due to storm and the broken part bends 5o
tree touches the ground making an
distance between the foot of the tree
top touches the ground is 6 m. Find

that the top of the
angle 60° with it. The
to the point where the

the height of the tree 710,
| : 03ci11
roRRE A== R |\ 1A A< UMBH
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(12)
H-18 | 3y 100 % st
= Wy !Iﬁﬁ'g-{m?'ﬁ
| ST Ao ey ifor

ST 3 3 Tursy 8y i
Find the sum of;
1atural numb .
which are divisible by 3 SRS i
HYUaT
OR
atetor 7o Fifam
% 4
X -
S
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